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	Cell Division: Meiosis


	A special type of cell division must take place in the reproductive organs to produce sex cells.

Sperm in males and eggs in females.

This specialised cell division is called meiosis. 

The sex cells must be produced differently, because they need to contain just one copy of each chromosome, not two. 

Whilst every other type of cell has 23 pairs of chromosomes, egg or sperm cells have just 23 single chromosomes – one from each pair.

So meiosis must reduce the chromosome number by half.

Meiosis starts with a normal cell, and the chromosomes are copied, just like in mitosis.

But the pairs of chromosomes then exchange parts of DNA. 

This is called recombination.

Recombination

Like shuffling a pack of cards, recombination allows the genes to be mixed up.

The cell divides, but unlike mitosis, the two cells then divide again to produce four cells. 

Meiosis involves 2 cell division cycles

These four cells are all genetically different to each other, and from the parent cell, with only half the normal number of chromosomes.

This is crucial so that at fertilisation, one set of chromosomes from the mother and one set from the father come together to form a new cell, containing a complete set of chromosomes – 46 in humans.

New life is formed with a unique, full set of 23 pairs of chromosomes.
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